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import matplotlib.pyplot as plt

import numpy as np
import pandas as pd
# LIESDDSA TS UM [SFEDMHES]

pd

.read_csv ("D:2022_%43Bffst=/StatData/StatData02_3.csv”).head() # csv 77 A ILDFRZD T =R

X
¥R Unnamed: Unnamed: Unnamed: Unnamed: Unnamed: Unnamed: Unnamed: Unnamed: Unname
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1 v 196cm 106kg SNEFF 1989/7/4 307% 28 RNBA Ba 7XY
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==}
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BA
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4 S 190cm 90kg %F 1990/12/3 295% 14 A~HR b=ra) 7XY
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tWMEBEGT—ALEITRYEB LT, BT 5
Data_org=pd. read_csv (
“D:2022 #3E#kEt=/StatData/StatData02 3. csv”
skiprows=1)
Data=pd. DataFrame ()

Data[ Height' ]=Data_org[' BE&']
Data[ Weight' ]=Data_org[ A&’ ]
Data[ Age’ ]=Data_org[ E#5’ ]

Data. head ()

Height Weight Age
0 196cm  106kg 307%
1 193cm 105kg 25@%
2 190cm 84kg 19i%
3 190cm 90kg 297%
4 189cm 90kg 187%

# 2 DataFrame ZHEL T, BWELT—FFANTHL
#t Height EWS2DAHSLEZHEY, BRT—2%2AND
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t REROBEHESR
type (Data. iat[1,0]) # 1970%] (193cm) DE! => str (XFFH) (FFHETEHWL

str

t REROBAEHESR
type (Data. iat[0,1]1) # 0171%] (106kg) DE! => str (XFAH) (FFHETEHEL

str

t REROBEHEDR
type (Data. iat[0,2]) # 0972%] (30m%) DE => str (XF3F|) [FFHET=LEL

str

# SHETELLSIC, BAEAFHIBRLTEIELITIZT S

H=[int(x.rstrip(cm')) for x in Data[ Height']] # AiH® cm Z#HIFRL T int (B#) (ZZi#:
Data[ newH ]=H

Data. head ()

Height Weight Age newH

0 196cm 106kg 30i% 196
1 193cm  105kg 25i% 193
2 190cm 84kg 19m% 190
3 190cm 90kg 297% 190

4 189cm 90kg 187k 189

# HETELLSIC, BAEAFHIBRLTEIELITIZT S

W=[int(x.rstrip(Ckg')) for x in Data[ Weight' 1] # HiHd kg ZHIRL T int (%) (£
Data[ newlW =W

A=[int(x.rstrip( #%’)) for x in Data['Age']] # HigD /% ZBIRLT int (B 2T
Data[ newA’ ]=A

Data. head ()

Height Weight Age newH newW newA

0 196cm 106kg 30k 196 106 30
1 193cm  105kg 257% 193 105 25
2 190cm 84kg 197k 190 84 19
3 190cm 90kg 29i% 190 90 29

4 189cm 90kg 187% 189 90 18
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# FEIZH>T-H 5 LFHIRKR
de| Data[ Height']
Data. head ()

Weight Age newH newW newA

0 106kg 307% 196 106 30
1 105kg 25@% 193 105 25
2 84kg 19i% 190 84 19
3 90kg 297% 190 90 29

4 90kg 187% 189 90 18

 FEHTHIR

Data. drop (columns=["Weight', Age' ], inplace=True)

Data. head ()

newH newW newA

0 196 106 30
1 193 105 25
190 84 19
190 90 29

A O DN

189 90 18

B WS LBMOEE

Data. rename (columns={ newH' :"Height'}, inplace=True)
Data. rename (columns={ newlW' :"Weight'}, inplace=True)

Data. rename (columns={ newA’ :’ Age’},

Data. head ()

Height Weight Age

0 196 106 30
1 193 105 25

2 190 84 19
3 190 90 29
4 189 90 18

AYAE

inplace=True)



In [12]: # #BHE

plt. figure(figsize=(5,5)) # RIDKESE (6,4) AT T4+

plt. scatter (Data[ Height' ], Data[ Weight' ], c="blue") e % &R R
plt. xlabel ( Height’)

plt.ylabel ( Weight’)

Out[12]: Text(0, 0.5, 'Weight')
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In [13]: # #BHFE
plt. figure(figsize=(5,5)) # KOXE=E (6,4 ATI74I
plt. scatter (Data[ Height'],Data[ Age'],c="blue’) e IR TN
plt. xlabel ( Height")
plt.ylabel (" Age’)

OQut[13]: Text(0, 0.5, 'Age’)
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In [14]: # BHK
plt. figure(figsize=(5,5)) # ROKXK=x (6,4 BT+ E
plt. scatter (Data[ Weight' ], Data[ Age’' 1, c="blue") MR % &R
plt. xlabel ( Weight')
plt.ylabel (' Age')

Out[14]: Text(0, 0.5, 'Age')
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In [15]: # EUGRHAHTTZIRO D
from sklearn import |inear_model
model=1inear_model. LinearRegression ()
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In [19]:

OQut[19]:

x=np. c_[Data[ Height' 1] #ZE Height 235 LY ML x & LTHE
y=np. ¢c_[Data[ Weight' 1] #tZEE Weight a5 LR MLy &L THE
z=np. c_[Data[ Age']] HEE Age 205 LR kL z £ LTHYE

plt. figure(figsize=(4,4)) # ROKXEE (6,4 ATT74IL
plt. scatter (x,y, c="blue') b I e T

plt. xlabel ( Height’)

plt.ylabel ( Weight')

model. fit(x,y)

plt.plot(x,model.predict (x),color = "red ) HERIELR

[Kmatplotlib. lines.Line2D at 0x2905f54dc10>]
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p=mode|. coef_ ElFEHR y=px+q OIEE
g=model. intercept_ ElIFEHR y=px+q DLTIF
p,q

(array ([[0. 9808959211), array([-93.49311991]))

plt. figure(figsize=(4,4)) # ROKXEE (6,4 AT T4+
plt. scatter (x,z, c="blue") AR E R

plt. xlabel (' Height’)

plt.ylabel (" Age')

model. fit(x, z)

plt.plot(x, model.predict (x), color = "red ) tERERE = HERE,SA OISR

[<matplotlib. lines.Line2D at 0x2905f5bb850>]
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In[]:

plt. figure(figsize=(4,4))
plt.scatter(y, z,c="blue")
plt. xlabel ( Weight")
plt.ylabel (' Age')

model. fit(y, z)
plt.plot(y, model.predict(y), color = "red")

MR E K=

[<matplotlib. lines.Line2D at 0x2905f619070>]
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i HERERE

HW _corr=Data[ Height' 1. corr (Data[ Weight'])
HA_corr=Data[ Height']. corr (Data[ Age’])
WA_corr=Data[ Weight'].corr (Data[’ Age'])
print (HN_corr, HA_corr, WA_corr)

Tt ROKEE 6,4) BNTITHILE

HERER => HEREAEOICEVO TEKRA RN

0.6279784821011654 -0. 1301533048090045 -0. 03202936477954722

# DataFrame (2%t L THEARHBO—ERT~ (FEETID

Data. corr ()

Height Weight Age

Height 1.000000 0.627978 -0.130153

Weight 0.627978 1.000000 -0.032029

Age -0.130153 -0.032029 1.000000

#t EEKICRIVINER REEE
np. round (Data. corr (), 2)

Height Weight Age

Height 1.00 0.63 -0.13
Weight 0.63 1.00 -0.03
Age -0.13 -0.03 1.00






